B F54E T AKoH OB OB R (OER H T £ E)
%K P FUKIRATH J5UK) B2 T 5K B3I THT JRUK)
A TE H KB RVE | BONIE | B/ME | CFME | | K | NE | BONE | PR o 2 | BONE | BB | CPOE | | K
N OV

— R 1001 /ml 0 0 o 0 12 0 0 ol 0 712 84 0 9[ 0 12
PN BEhans s Nian THEH Akl 0 12 AhEH AR ARl 0 12 AhRH THEH AR 0 7 12
BRI L N DIbER 0.003 mg/l < 0.0003 [< 0.0003 < 0.0003] 0, 1]< 0.0003 [< 0.0003[< 0.0003] 0  1]< 0.0003 K 0.0003 K 0.0003] 0 1
KSR X DALEY) 0.0005 7 < 0.00005 [< 0.00005 [< 0.00005 [ 0 1]< 0.00005 [< 0.00005 [< 0.00005] 0  1]< 0.00005 K 0.00005 k 0.00005] 0 1
LU NDPZEOEY  10.01 < 0.001]<  0.001 < o0001] 0 1K 0.001]< 0.001[< 0001] 0 7 1K 0.001K 0001lK 0.001]0 1
S M OZFDILEY 0.01 ” < 0.001[< 0.001]< 0001 o 1fJ< 0.001]<  0.001[< o0.001] 0 1] o001k o000tk 00010 1
EZ M ZEDILEY) 0.01 » < 0.001[< 0.001]< 0.001] o 1k o0.001[< o0.001]< 0001 0 1] o000tk 0001k 00010 7 1
NN A=) 0.02 » < 0.002 [< 0.002 1< 0.002] 0o af<  0.002 < 0.002 < 0.002] 0 4] 0.002k 0002k 0.002] 0 4
A REHE 25 35 0.04 1 < 0.004 1< 0.004 [<  0.004] 0, 1J<  0.004[<  0.004]<  0.004] 0 1] 0.004 K 0.004 K 0.004] 0 / 1
LT AAA L KOSy T [0.01 0 < 0.001]< 0.001[< 0.000] o 1J< o0.001[< o0.001[< o0.001] 0 7 1<K o000tk  o0.001k 00010 1
fllR e %S 3 K OV AR REZE 2% [ 10 )] 6.28 5.36 5.60] 0 12 5.37 4.30 4.99] 0 12 5.58 4.85 5.18] 0 12
TR M OZOILEY 0.8 < 0.05 |< 0.05 [< 0.05] 0/ 1K 0.05 [< 0.05 |< 0.05] 0 / 1k 0.05 K 0.05 K 0.05[ 0 1
RUZMOZOEY 1.0 < 0.02 [< 0.02 < 0.02] o 1J 0.02 < 0.02 [< 0.02 0 / 1] 0.02 K 0.02 K 0.02f 0 1
ERIAES 0.002 ” < 0.0002 [< 0.0002 < 0.0002 [ 0 4f]< 0.0002 [< 0.0002 [< 0.0002] 0  4]< 0.0002 K 0.0002 Kk 0.0002] 0 4
1,4- A% 0.05 < 0.005 < 0.005[< 0.005] 0o 1] 0.005[< 0.005]< 0.005] 0 1] 0005k 0.005k 0005] 0 7 1
Y A-1,2=v7eexFLy O

NV A2~ JapTFly 0.04 » < 0.0002 [<  0.0002 < 0.0002 | 0 4]< 0.0002 [< 0.0002 [< 0.0002] 0 4 0.0006 0.0004 0.0005| 0 / 4
A=Y % 0.02 < 0.0002 [<  0.0002 < 0.0002 0 4f]< 0.0002 [< 0.0002 [< 0.0002] 0  4]< 0.0002 kK 0.0002k 0.0002] 0 4
Fro /T L 0.01 0.0021 0.0018 0.0020] 0,/ 4 0.0047 0.0040 0.0043] 0 ~ 4 0.0008 0.0008 0.0008] 0 4
N ZooxF L 0.01 » 0.0006 0.0006 0.0006 | 0, 4 0.0006 0.0005 0.0005] 0 4 0.0007 0.0005 0.0006 | 0 / 4
~ P 0.01 < 0.0002 [< 0.0002 < 0.0002 0, 4f]< 0.0002 [<  0.0002 [<  0.0002] 0  4]< 0.0002 kK 0.0002 k 0.0002] 0 4
e 0.6 I 0/ 0 0,/ 0 0,/ 0
7o fERE 0.02 » 0/ 0 0,/ 0 0,/ 0
)L 0.06 < 0.001[< 0.001]< 0001 o 3]< 0.001]< 0.001[< 0.001] 0 3]k 0001k 0001k 00010 3
T/ aapERg 0.03 0/ 0 0./ 0 0./ 0
DA A=Y 0.1 < 0.001[< 0.001]< 0001 o 3J< 0.001]< o0.001[< 0.001] 0 3]k 0001k 0001k 00010 3
HEE 0.01 0/ 0 0/ 0 0,/ 0
NN % 0.1 Il < 0.001 < 0.001f< 0.001] 0, 3J]< 0.001[< 0.001]< 0.000f 0 3] 0.001K 0.001 k 0.001] 0 / 3
N7 ooz 0.03 0/ 0 0./ 0 0./ 0
T IO RR 0.03 < 0.001 [< 0.001]< 0001 o 3J< 0.001]< 0.001[< 0.001] 0 3]k 0001k 0001k 00010 3
7 aER)L I 0.09 » 0.001 [< 0.001[<  0.0001] 0 3k o0.001[<  0.001]<  0.001[ 0 3J]< 0.0001k 0.0tk 0.001] 0 3
FIVLT LT ER 0.08 I 0/ 0 0/ 0 0/ 0
din M NZ DL EY 1.0 < 0.01 < 0.01 [< 0.01] 0/ 1K 0.01 < 0.01 < 001l 0 / 1 0.01 0.01 0.0l 0 7 1
TNI=U LR NZOEW[0.2 1 < 0.02 [< 0.02 [< 002 0 1K 0.02 < 0.02 |< 0021 0 / 1K 0.02 k 0.02 k 002 0 1
RN NZDILEWY 0.3 I < 0.03 |< 0.03 |< 0.03] 0 1K 0.03 |< 0.03 |< 003 0 1K 0.03 K 0.03 K 0.03] 0 / 1
i X2 DILEY 1.0 n < 0.01 [< 0.01 [< 0.01] 0/ 1€ 0.01 |< 0.01 [< 0.0l [ 0 7 1[ 0.01 K 0.01 K 0.01] 0/ 1
TR LN DL EY 200 » 6.9 6.9 69| 0, 1 6.5 6.5 6510 7 1 7.6 7.6 7610 7 1
<~ A K OZEDILEY 10.05 v < 0.005[<  0.005]< 0005 0o 1< 0.005]< 0.005[< 0005] 0 1] 0.005K 0005k 0.005] 0 1
T A 4 200 ” 8.3 7.6 791 0,/ 12 7.7 7.0 7210 /12 13.9 11.1 124 0 / 12
TV e R WEGERE) [300 0 114 114 114 0/ 1 107 107 107] 0 7 1 141 141 41| 0 /7 1
TR 500 U 196 196 196] 0 1 182 182 182] 0 7 1 243 243 2431 0 / 1
BEA 7 S G A 0.2 ] < 0.02 [< 0.02 [< 0.02] o 1J 0.02 [< 0.02 [< 0.02] 0 / 1]« 0.02 K 0.02 K 0.02[ 0 / 1
VA AL 0.00001 7 J<0.000001 [< 0.000001 [< 0.000001 [ 0  1]< 0.000001 [< 0.000001 [< 0.000001] 0 ~ 1 ]<0.000001 K 0.000001 k 0.000001 [ 0 ~ 1
92— AF LA VARL A —MIB) 10.00001 # ]<0.000001 [< 0.000001 [< 0.000001 ] 0 1< 0.000001 [< 0.000001 [< 0.000001 | 0  1]<0.000001 kK 0.000001 K 0.000001] 0 / 1
FEA A F i iE A 0.02 I < 0.002 < 0.002]<  0.002] 0o 1<K 0.002[<  0.002]< 0.002] 0 7 1] 0002k 0002k 00020 7 1
7 /) —)VFA 0.005 < 0.0005 [<  0.0005 < 0.0005 [ 0, 1]<  0.0005 [<  0.0005 [<  0.0005] 0  1]< 0.0005 K 0.0005 kK 0.0005] 0 1
GHE(EARIRFETOODE) 3 7 < 0.2 [< 0.2 [< 0.2 0. 12K 0.2 [< 0.2 [< 0.2 0 /12 0.2 k 0.2 k 0.2 0 12
pHAE 5.8~8.6 7.2 6.8 7.0 0/ 12 7.2 6.8 7.0 0 12 7.1 6.8 69 0 7 12
e B TR Haal] Bl EEARLL 0 12| EEALl Bl BEALl o 12 BEsL|] BEEAL] BEsaeLl o 12
A ) warielL ] BmuseL] BmEsaLl o 12| B | BmuEAL] RmEaLl o 12| Easal] BEkl] RmEaLl o 12
i 5 < 0.5 |< 0.5 [< 05 0, 12|K 0.5 |< 0.5 |< 05| 0 /12| 0.5 k 0.5 k 0510 712
) 2% < 0.1 [< 0.1 < 0.1 0,/ 12K 0.1[< 0.1 [< 0.1/ 0 7 12[ 0.1 k 0.1 K 0.1/ 0 7 12
oM e - 0 0 o 0 12 0 0 0l 0o 712 0 0 0f o0 712
1 I 2 5 Al B 11220008 F(BTE) 8 8 8l o 1 3 3 3o 7 1 27 27 2711 0 / 1
JVTRAR) T A 1/ 101 0 0 0] 0/ 4 0 0 010 7 4 0 0 0l o0~ 4
TN T fi# /101 0 0 0] 0 4 0 0 0] 0 7~ 4 0 0 0] 0 7 4
AU R mS/m 26.6 25.7 26.2 12 26.0 23.8 25.1 12 32.6 31.5 32.0 12
JK C 18.8 16.8 17.7 12 18.2 16.5 17.6 12 18.1 16.8 17.5 12
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K %o 1 mEadF (CER I =R UK) W4 Uik T i 5nJF UiK) B G VU BB BT U
R H %Jz%*%{(ﬁ wmAE | BME | CESE | B | RKE | mAME | RS | Dk | &K | meME | CESME | B B | RORME | SME | CEEME [ R 2k | AROKiE | &ME | CFERE | R OB | mOKME | mME | CEESME | R 3K
NEL7
— R 1004 /ml 181 0 5] 0 712 0 0 ol o 12 0 0 0] 0 711 0 0 ol o 12 0 0 0l o0 /12 2 0 0] 0 12
KIGE BHEh RN Y At Tl A 0 12 NS At TR 0 12 NN Tl ] 0 11 g N Aan R 0 12 N Aas g ] 0 12 g N aas a0 12
HEIT LN OZF DA [0.003 mg/l < 0.0003 [< 0.0003 [< 0.0003] 0~ 1] 0.0003 [< 0.0003 [< 0.0003] 0~ 1]< 0.0003 [< 0.0003 [< 0.0003] 0~ 1]< 0.0003 [< 0.0003 < 0.0003] 0~ 1]< 0.0003 [< 0.0003 [< 0.0003] 0~ 1]< 0.0003 [<  0.0003 0.0003] 0 1
KK O DILEW 0.0005 ” <_0.00005 [< 0.00005 [< 0.00005 ] 0~ 1< 0.00005 [< 0.00005 [< 0.00005 ] 0~ 1]< 0.00005 [< 0.00005 [< 0.00005] 0~ 1< 0.00005 [< 0.00005 [< 0.00005 [ 0~ 1]< 0.00005 [< 0.00005 [< 0.00005 | 0~ 1< 0.00005 [< 0.00005 K 0.00005] 0 1
YLK OZEDOEY 001 < 0.001 [< 0.000 < 0.00t] 0 ~ 1] 0.001]< 0.00L[< 00010 1< 0.000[< 0.000[< 0.000] 0  1]< 0.001]< 0.001]< 00010 1] 0.001[< 0.000[< 0.000] 0  1]<  0.001]< 0.001 0.00l] 0 1
K OZFDILEY 0.01 < 0.001 [< 0.000 < 0.00t] 0 ~ 1] 0.001]< 0001 < 00010 1< 0.000[< 0.000[< 0.000] 0 1]< 0.001]< 0.001]< 00010 ~ 1] 0.001[< 0.000[< 0.000] 0  1]<  0.001]<  0.001 0.00l] 0 1
EEMROPZDLEY 0.01 < 0.001 J< 0.001 [< 0.000] 0 1< 0.001[< 0.001 < 00010 ~ 1]< 0.001 < 0.001]<  0.000] 0 1< 0.001[< 0.001[< 00010 ~ 1] 0.001]< 0.001]<  0.000] 0 7 1]< 0.001[<  0.001 0.00l] 0 1
SMizaMbE Y 0.02 < 0.002 [<0.002 < 0.002] 0~ 4]<  0.002 < 0.002]< 0002 0 7 a]< 0.002[<  0.002[<  0.002] 0 3| 0.002]< 0.002]< 0.002] 0 7 a]< 0.002]<  0.002]<  0.002] 0 4]<  0.002 < 0.002 0.02] 0 1
HAEREIEE R 0.04 < 0.004[<0.004[< 0.004] 0~ 1] 0.004]<  0.004]< 0004 0 7 1< 0.004[<  0.004[<  0.004] 0 ~ 1] 0.004[<  0.004]< 0004 0 7 1]< 0.004]<  0.004]<  0.004] 0~ 1]<  0.004 [<  0.004 0.04] 0 1
A A ROk 7 [0.01 0 < 0.00L [< 0.00L[< 0.000] 0 7 1]<  0.001 < 0.00L[<  0.00L] 0 7 1< 0.00l[<  0.000[<  0.000] 0 7~ 1]<  0.001]< 0.001[< 00010 7 1]< 0.000 [< 0.000[<  0.00l] 0 7~ 1]<  0.001 < 0.001 0.00l] 0 1
HRETE 22 5 I O\ AR E 22 5% [10 1 3.51 2.84 3.06] 0 7 12 2.62 1.97 2311 0 7 12 4.30 3.60 3.93] 0 711 2.51 1.82 2131 0 12 6.25 5.19 563 0 /12 3.22 2.34 2.88] 0 12
TR M OZOILEY 08 < 0.05 [< 0.05 [< 0.05[ 0 ~ 1] 0.05 [< 0.05 [< 0.05] 0 ~ 1| 0.05 [< 0.05 [< 0.0 0 ~ 1] 0.05 [< 0.05 [< 0.06] 0 7 1] 0.05 [< 0.05 [< 0.06[ 0 7 1| 0.05 [< 0.05 0.06| 0 1
KR OIZFOIEY (1.0 < 0.02 [< 0.02 [< 0.02] 0 1 0.03 0.03 0.03] 0 ~ 1| 0.02 [< 0.02 [< 0.02] 0 1 0.02 0.02 0.02] 0 ~ 1] 0.02 [< 0.02 [< 0.02[ 0 7 1 0.02 0.02 0.02] 0 1
DUt bR & 0.002_» <_0.0002 [<_0.0002 [<_0.0002] 0 .~ 4]<_0.0002 [<  0.0002 [< 0.0002 [ 0~ 4]< 0.0002 [< 0.0002 [< 0.0002] 0 3]<_0.0002 [<  0.0002 [< 0.0002 [ 0~ 4]< 0.0002 [<  0.0002 [< 0.0002]| 0 4]<_0.0002 [<  0.0002 0.0002| 0 1
1,471\‘/;%*;47“/% - 0.05 < 0.005 < 0.005 < 0.005] 0 ~ 1]<  0.005[< 0.005[< 0005 0 ~ 1]<  0.005]< 0.005]< 0.005] 0 ~ 1]<  0.005[<  0.005[< 00050 7 1]< 0.005]< 0.005]< 0.005] 0 7 1]< 0.005[<  0.005 0.005| 0 1
VA-1,2-Y /anxfL A
Ny A-1.2-v apzdLy 0.04 <_0.0002 |[<_0.0002 < 0.0002 | 0 . 4]<_0.0002 [<_ 0.0002 [<  0.0002 | 0  4]< 0.0002 |< 0.0002 |< 0.0002 | 0  3]<_0.0002 [<  0.0002 [<  0.0002 | 0 ~ 4]< 0.0002 |< 0.0002 < 0.0002| 0 4]<_0.0002 [<_ 0.0002 0.0002| 0 1
vranrg 0.02 < 0.0002 [<_0.0002 [<_0.0002] 0 .~ 4]<_0.0002 [<_ 0.0002 [<  0.0002 ] 0~ 4]< 0.0002 [<_0.0002 [< 0.0002] 0~ 3]<_0.0002 [< 0.0002 [< 0.0002 [ 0~ 4]< 0.0002 [<  0.0002 [<_ 0.0002]| 0 4]<_0.0002 [<  0.0002 0.0002| 0 1
S raaTFL 0.0l < 0.0002 [<_0.0002 [<_0.0002 | 0 4]<_0.0002 [<  0.0002 [<_0.0002] 0 “ 4 0.0002 [<_0.0002 0.0002 [ 0~ 3]<_ 0.0002 [< 0.0002 [< 0.0002] 0/ 4 0.0009 0.0008 0.0009 [ 0~ 4 ]<_0.0002 [<_ 0.0002 0.0002| 0 1
~ZoaxFL 0.0l <_0.0002 [<_0.0002 < 0.0002] 0~ 4]<_0.0002 [<_ 0.0002 [<_ 0.0002 [ 0 4]<_0.0002 [<_0.0002 [<_0.0002] 0 3]< 0.0002 [<  0.0002 [<_ 0.0002 | 0 4 0.0006 0.0006 0.0006 [ 0~ 4 ]<_0.0002 [<_ 0.0002 0.0002| 0 1
~ P 0.01 <_0.0002 [<_0.0002 [<_0.0002] 0 .~ 4]<_0.0002 [<_ 0.0002 [<  0.0002 ] 0~ 4]< 0.0002 [< 0.0002 [< 0.0002] 0 3J<_0.0002 [< 0.0002 [< 0.0002 [ 0~ 4]< 0.0002 [<  0.0002 [< 0.0002]| 0 4]<_0.0002 [<_ 0.0002 0.0002| 0 1
A 0.6 0/ 0 0/ 0 0/ 0 0/ 0 0/ 0 0/ 0
Ja iR 0.02__» 0/ 0 0/ 0 0/ 0 0/ 0 0/ 0 0/ 0
k)L 0.06 < 0.001 J< 0.001[< 0.001] 0 3J< 0.001 < 0.001[< 00010 ~ 3]<  0.001 < 0.001]<  0.000] 0~ 2]< 0.001[< 0.001[< 00010 ~ 3] 0.001]< 0.001 <  0.001]0 7 3 0/ 0
Yy auiig 0.03 0/ 0 0/ 0 0/ 0 0/ 0 0/ 0 0/ 0
V7 OaE/anriL 0.1 < 0.001 J< 0.001[< 0.001] 0 3J< 0.001 < 0.001[< 00010 ~ 3]<  0.001 < 0.001]<  0.000] 0~ 2]< 0.001[< 0.001[< 00010 ~ 3] 0.001]< 0.001 <  0.001]0 7 3 0/ 0
EEa A 0.0l _» 0/ 0 0/ 0 0/ 0 0./ 0 0/ 0 0/ 0
Kb o AZ 0.1 < 0.001 J< 0.001[< 0.001] 0 3J< 0.001 < 0.001[< 00010 ~ 3]<  0.001 < 0.001]<  0.000] 0~ 2]< 0.001[< 0.001[< 00010 ~ 3] 0.001]< 0.001 <  0.001]0 7 3 0/ 0
[P ASI= A 0.03 _» 0/ 0 0/ 0 0/ 0 0/ 0 0/ 0 0/ 0
TOET/auRrS 0.03 < 0.001 [< 0.001 [<_0.000] 0  3J< 0.001 < 0.001[< 00010 ~ 3]<  0.001 < 0.001]<  0.000] 0 2]< 0.001[< 0001 [< 00010 ~ 3] 0.001]< 0.001]<  0.001]0 7 3 0/ 0
7 aER/LA 0.09 < 0.001 [< 0.001 [<_0.000] 0 3J< _0.001 [< 0.001[< 00010 ~ 3]<  0.001 < 0.001]<  0.000] 0 2]< 0.001[< 0.001[< 0.001] 0 ~ 3] 0.001]< 0.001]<  0.001]0 7 3 0/ 0
RILLT LT ER 0.08 0/ 0 0./ 0 0/~ 0 0./ 0 0./ 0 0/ 0
WL K O DL A 1.0 n_ < 0.01 [< 0.01 [< 0.0l o0 ~ 1k 0.01 [< 0.01 [< 0.0l 0 ~ 1K 0.01 [< 0.01 [< 0010 ~ 1)K 0.01 [< 0.01 [< 0.0l 0 ~ 1k 0.01 [< 0.01 [< 0010 ~ 1)K 0.01 [< 0.01 0.0l 0 1
TAI=T LR OEDEW|0.2 0 < 0.02 [< 0.02 [< 0.02] 0 ~ 1] 0.02 [< 0.02 [< 0.02] 0 7 1| 0.02 [< 0.02 [< 0.02[ 0 7 1[K 0.02 [< 0.02 [< 0.02] 0 7 1] 0.02 [< 0.02 [< 0.02f 0 7 1| 0.02 [< 0.02 0.02] 0 1
LR NZFDILEW 0.3 u < 0.03 [< 0.03 [< 0.03[ 0 ~ 1k 0.03 [< 0.03 [< 0.03] 0 7 1| 0.03 [< 0.03 [< 0.03[ 0 7 1[K 0.03 [< 0.03 [< 0.03] 0 ~ 1[ 0.03 [< 0.03 [< 0.03] 0 ~ 1[ 0.03 [< 0.03 0.03[ 0/ 1
i NFDILEY 1.0 K 0.01 [< 0.01 [< 0010 ~ 1[K 0.01 [< 0.01 [< 001 0 7 1| 0.01 [< 0.01 [< 0010 7 1[K 0.01 [< 0.01 [< 001 0 7 1k 0.01 [< 0.01 [< 0010 7 1[K 0.01 [< 0.01 001 0 1
FRIT LR OFDLE 200 11.1 11.1 1.1 o0 /7 1 11.3 11.3 11310 7 1 9.8 9.8 98| 0 / 1 10.3 10.3 10310 7 1 6.8 6.8 68| 0 7 1 10.8 10.8 108 0 1
< K OZFDOEY 1005 n < 0.005 < 0.005 < 0.005] 0 ~ 1]<  0.005[< 0.005[< 0005 0 ~ 1]<  0.005]< 0.005]< 0.005] 0 ~ 1]<  0.005[<  0.005[< 00050 7 1]< 0.005]< 0.005]< 0.005] 0 ~ 1< 0.005[<  0.005 0.005| 0 1
kA4 200 6.5 5.5 59[ 0 12 6.0 5.6 581 0 /12 6.5 5.9 6.1] 0 /11 5.6 5.3 54| 0 /12 13.7 12.1 1271 0 712 6.1 5.6 58| 0 12
TN I L RNaEGERE) [300 0 109 109 1090 7 1 119 119 1191 0 7 1 112 112 1121 0 /1 110 110 110l 0 7 1 122 122 1221 0 7 1 111 111 11| 0o/ 1
ZEAE TR ) 500 181 181 1810 7 1 204 204 204 0/ 1 183 183 183 0/ 1 190 190 190 0 7 1 214 214 2141 0 / 1 181 181 181 0 1
[aA A S PRl 0.2 [ < 0.02 [< 0.02 < 0.02] 0 ~ 1] 0.02 [< 0.02 [< 0.02] 0 / 1K 0.02 [< 0.02 [< 0.02[ 0 ~ 1)K 0.02 [< 0.02 [< 0.02] 0 / 1k 0.02 [< 0.02 [< 0.02f 0 ~ 1) 0.02 [< 0.02 0.02] 0 1
VA RIS 0.00001 _»_]<0.000001 [<0.000001 [<0.000001 [ 0~ 1 ]<0.000001 [<0.000001 [<0.000001 | 0  1]<0.000001 [<0.000001 [<0.000001 [ 0 ~ 1 [<0.000001 [<0.000001 [<0.000001 | 0 ~ 1]<0.000001 [<0.000001 [<0.000001 | 0 ~ 1]<0.000001 [<0.000001 K 0.000001 ]| 0/ 1
2—AF AR FA—MIB)_0.00001 1 ]<0.000001 [<0.000001 [<0.000001 [ 0 1 ]<0.000001 [<0.000001 [<0.000001 | 0 ~ 1]<0.000001 [<0.000001 [<0.000001 [ 0 1 ]<0.000001 [<0.000001 [<0.000001 | 0 ~ 1]<0.000001 [<0.000001 [<0.000001 | 0 1 [<0.000001 [<0.000001 K 0.000001 | 0/ 1
FEA A Sy A 0.02 < 0.002 < 0.002 < 0.002] 0 1< 0.002 [< 0.002[< 00020 ~ 1)< 0.002]<  0.002]<  0.002] 0~ 1]< 0.002 < 0.002[< 00020 7 1]<  0.002]<  0.002]<  0.002] 0 1]< _0.002 [<  0.002 0.002] 0/ 1
Jx/—)VHH 0.005_# <__0.0005 [<_0.0005 [<_0.0005] 0  1]< 0.0005 < 0.0005 [<  0.0005 | 0~ 1]<_0.0005 < 0.0005 [<_ 0.0005] 0 ~ 1]< 0.0005 < 0.0005 [<  0.0005 ] 0 ~ 1[< 0.0005 [<_ 0.0005 < 0.0005] 0 ~ 1]< 0.0005 < 0.0005 K 0.00056] 0 1
A EERRFZETOODR)[3 I < 0.2 [< 0.2 [< 02l 0 12K 0.2 [< 0.2 [< 02] 0 ~12]< 0.2 [< 0.2 [< 02l 0 11K 0.2 [< 0.2 [< 02] 0 12K 0.2 [< 0.2 [< 02l 0 12K 0.2 [< 0.2 K 02 0 12
pH{E 5.8~8.6 7.2 6.8 7.0 0 712 7.4 6.9 7.0]1 0 /12 7.2 6.8 7.0 0 /11 7.2 6.9 7.0 0 712 7.2 6.9 7.0 0 712 7.2 6.9 7.0 0 12
BTN EARL| O REZRL| O REARL| 0 S 12) FEAU|] BEl| BElel| 0 S 12) REZRL| O REARL| O REARLI 0 11| FEAU|] FEiel| FEil| 0 12| REZRL| REARL| O REARLI 0 12 FEilL| FElel| FEAl] 0 12
5 ” TR LRl BEZRL| 0 12 LRl BERL LEZRL| 0 12 FElel LRl REZRLI 0 11 LERL|  BEZRL LEaLl 0 12| WEAL[ BEAL izl 0 12| Bl LR BEARL| 0 12
o 5% < 0.5 [< 0.5 < 05/ 0 12K 0.5 < 0.5 < 05| 0 712]< 0.5 < 0.5 < 050 /11K 0.5 < 0.5 |< 05/ 0 712K 0.5 |< 0.5 [< 050 712K 0.5 [< 0.5 K 05| 0 12
W 2% < 0.1 [< 0.1 < 0.1l 0 /12K 0.1 < 0.1 < 0.1] 0 712]< 0.1 < 0.1 < 0.1l 0 /11| 0.1 < 0.1]< 0.1] 0 712K 0.1]< 0.1 [< 0.1 0 /12K 0.1 [< 0.1 K 0.1] 0 12
R IER - 0 0 0l o 712 0 0 0l o0 712 0 0 0ol o 711 0 0 0l o0 712 0 0 0ofo 712 0 0 ol 0o/ 0
EJE S AN L2000 B BT 0 0 0lo 7 0 15 15 1510 7 1 0 0 0lo 7 0 0 0 0lo 7 0 0 0 0lo /1 44 44 44 0 1
JVTHARI T L fE#/101 0 0 0l 0 7 1 0 0 0] 0 7 1 0 0 0l 0 7 1 0 0 0] 0 7 1 0 0 0l o0 /1 0/ 0
CTINTT /101 0 0 olo 7 1 0 0 0lo 7 1 0 0 olo 71 0 0 0olo 7 1 0 0 olo 71 0/ 0
BERmEE mS/m 27.7 24.6 26.2 12 29.5 28.6 29.0 12 27.9 26.7 27.4 11 28.4 26.4 27.5 12 28.3 27.3 27.7 12 28.1 27.2 27.8 12
K °C 20.0 17.8 19.1 12 20.0 16.5 19.2 12 19.5 18.0 18.6 11 20.5 18.2 19.3 12 19.0 16.7 17.5 12 20.2 18.8 19.3 12
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K B 5 1l K35 WK 2Rk (k) RS P il K 35 (k)
A EH KB RTE | NE | B/ME | FOIE B | mANE | s/ME | CERE o1 2 | mNE | m/ME | CFHIE EIRE:S
K OB

— Al B 100# /ml 0 0 ol o 712 0 0 0l 0o 712 0 0 ol 0 712
N P T N ARl 0 12 Ak Ak ARl 0 12 AR H N AR 0 12
HRIT LR NZDEA [0.003 mg/1 [< 0.0003 [< 0.0003 [< 0.0003] 0 ~ 1] 0.0003 [< 0.0003 [< 0.0003] 0 ~ 1]< 0.0003[< 0.0003]< 0.0003] 0 1
IKER N O DAL E W 0.0005 » < 0.00005 [< 0.00005 [< 0.00005[ 0  1]< 0.00005 [< 0.00005 [< 0.00005[ 0 ~ 1< 0.00005[< 0.00005 [< 0.00005[ 0 1
HL R OZEDILEY (0.0 » < 0.001[< o0.001[< 00010 1]< o0.001]< o0.001]< 0.001] 0  1]<  0.001]<  0.001]<  0.0001] 0 1
OO EY) 0.0l < 0.001]< 0.001]< 0.001f 0 7 1] 0.001]< 0.001]< o0.000] 0 7 1] 0.001]< 0.001]< o0.001] 0 7 1
LE L DL EWY 0.01 < 0.001[< o0.001[< o0001] 0 1]< o0.001]< o0.001]< 0.001] 0  1]<  0.001]<  0.001]<  0.0001] 0 1
AN Y 0.02 1 < 0.002[< 0.002[< 00020 7 1]< o0.002]< 0.002]< 0.002] 0  1]<  0.002]<  0.002]<  0.002] 0 7 1
MR HEZE R 0.04 1 < 0004 <  0.004[< 0004] 0  1]<  0.004]<  0.004]< 0.004] 0 7 1]<  0.004 <  0.004]<  0.004] 0 1
T AIAA L R O 7 [0.01 0 < 0.001[< o0.001[< 00010 af< o0.001]< o0.001[< o0.000] 0  al< 0.001]<  0.000]< 0.000] 0 7 4
HRRE % 5 ) OV AR RE 22 52 [ 10 I 41.75 3.43 4131 0 12 4.91 4.04 44310 /12 2.99 2.12 245 0 /12
P J Aol ia=x/ I I < 0.05 |< 0.05 |< 0.05s] 0 / 1[ 0.05 |< 0.05 |< 005 0 / 1| 0.05 [< 0.05 [< 0.05] 0 / 1
FUZMOZOEY  [1o » < 0.02 [< 0.02 [< 0.02] 0 / 1[K 0.02 [< 0.02 [< 0.02] 0 / 1[K 0.02 < 0.02 [< 0.02] 0 / 1
ERIAES 0.002 < 0.0002 [<  0.0002 [< 0.0002] 0 ~ 1]< 0.0002 [< 0.0002 [< 0.0002] 0 ~ 1]< 0.0002 [< 0.0002 [< 0.0002] 0 1
1,4- A% 0.05 < 0.005[< 0.005[< 0005] 0 7 1]< 0.005]< 0.005[< 0.006] 0  1]< 0.005[<  0.0065[< 0.006] 0 7 1
vA-1,2-V" rauxzFly g IR

NV A-1,2-3 Jaa Tl 0.04 < 0.0002 [<0.0002 [< 0.0002] 0  1]< 0.0002 < 0.0002 < 0.0002] 0  1]< 0.0002 [< 0.0002 |<  0.0002] 0 1
A=Y Y% 0.02 1 < 0.0002 [< 0.0002 [< 0.0002] 0 ~ 1]< 0.0002 [< 0.0002 [< 0.0002] 0 ~ 1]< 0.0002 [< 0.0002 [< 0.0002] 0 1
FroZunTF L 0.01 » 0.0013 0.0009 0.0011 ] 0 / 4 0.0027 0.0021 0.0023[ 0~ 4 0.0004 0.0002 0.0003| 0 4
NS N 0.01 ” 0.0004 0.0002 0.0003[ 0 4 0.0005 0.0004 0.0004 | 0  4]< 0.0002 [< 0.0002 [< 0.0002] 0 4
P 0.01 < 0.0002 [<0.0002 [<  0.0002] 0  1]< 0.0002 [<  0.0002 ]< 0.0002] 0  1]< 0.0002 [< 0.0002 [< 0.0002] 0 1
R 0.6 1 < 0.06 |< 0.06 |< 0.06] 0 ~ 4 0.06 |< 0.06 |< 0.06] 0 / 4 0.06 [< 0.06 [< 0.06] 0 / 4
7o g 0.02 ” <0002 [< 0.002[< 0.002] 0 7 4af<  0.002]<  0.002]<  0.002] 0  4]<  0.002 < 0.002 < 0.002] 0 4
IRl 0.06 1 0.002 [<  0.001 0.002] 0 / 4 0.003 [<  0.001 0.002] 0 / 4 0.012 0.004 0.008] 0 / 4
T uu iR 0.03 1 < 0.003[<  0.003[<  0.003] 0  4]<  0.003]<  0.003]<  0.003] 0 4 0.006 [<  0.003 0.004] 0 / 4
DA A= 0.1 1 0.002 [<  0.001 0.002] 0 / 4 0.002 [<  0.001 0.002] 0 / 4 0.003 [<  0.001 0.002] 0 / 4
e 0.01 ” < 0.001[<  0.001[< 0001 0 4f]c 0.001]<  0.001]<  0.000] 0  4]<  0.001]<  0.001]<  0.001] 0 / 4
FERU AN AR 0.1 ” 0.007 [<  0.001 0.006| 0 / 4 0.008 0.001 0.006] 0 / 4 0.020 0.005 0.013] 0 / 4
N oo g 0.03 » < 0.003]<  0.003]<  0.003] 0  4]<  0.003]< 0.003[< 0.003] 0 7 4 0.006 [<  0.003 0.004] 0 / 4
TRV IOanRAR 0.03 1 0.002 [<  0.001 0.001] 0 / 4 0.002 [<  0.001 0.002] 0 / 4 0.005 [<  0.002 0.004] 0 / 4
7 OEIR )L 0.09 ” 0.002 [<  0.001 0.001] 0 / 4 0.002 [<  0.001 0.001] 0 ~ 4] 0.001]< 0.001]< 0.001] 0 / 4
BILLT VT ER 0.08 1 < 0.008[< 0.008[< 0008 0  4af]< 0.008]< 0.008]< 0.008] 0  4]<  0.008 < 0.008]< 0.008] 0 / 4
Hien M DL EY) 1.0 < 0.01 |< 0.01 |< 001 0 1K 0.01 |< 0.01 |< 0.0l 0 / 1| 0.01 [< 0.01 |< 0.0l 0 / 1
TAI=U LK OZOEWm[02 1 < 0.02 |< 0.02 |< 0.02] 0 / 1 0.02 0.02 0.02] 0 / 1[ 0.02 [< 0.02 [< 0.02] 0 / 1
M XZDILEY) 03 I < 0.03 [< 0.03 [< 0.03[ 0 / 1| 0.03 [< 0.03 [< 0.03[ 0 / 1| 0.03 [< 0.03 [< 0.03] 0 7 1
i N2 DILEY 1.0 » < 0.01 [< 0.01 [< 0.0l [ 0 7 1[K 0.01 [< 0.01 [< 0.0l 0 ~ 1[K 0.01 [< 0.01 [< 0.01] 0 / 1
TR LN ZEDIEY) [200 0 8.6 8.6 86| 0 /1 8.3 8.3 8.3l 0 1 8.4 8.4 g4l 0 / 1
<~ K OZFOEY 10.05 0 < 0.005[< 0.005[< 0005 0 7 1]< 0.005]< 0.005]< 0.006] 0  1]<  0.005]<  0.005]<  0.006] 0 1
b A4 200 0 7.4 6.6 7.1l 0 12 8.3 7.4 771 0 /12 9.6 8.3 8.8 0 12
HIVL T e 7 3 N [300 109 108 109 0~ 4 103 101 102] 0 ~ 4 92 80 84 0~ 4
TR 500 7 201 170 180 0 4 207 153 176 0~ 4 173 136 152 0 7 4
A A S s Al 0.2 T K 0.02 [< 0.02 |< 0.02] 0 / 1[ 0.02 |< 0.02 |< 0.02] 0 / 1]« 0.02 [< 0.02 [< 0.02f 0 /1
D AIL 0.00001 » < 0.000001 [< 0.000001 [< 0.000001 | 0 ~ 1]<0.000001 [<0.000001 [<0.000001 [ 0 ~ 1]<0.000001 [<0.000001 [< 0.000001 ] 0 1
o— AF LAV R FH—AMIB) [0.00001 7 < 0.000001 [< 0.000001 [< 0.000001 [ 0 1] 0.000001 [< 0.000001 [< 0.000001 | 0 1< 0.000001 [< 0.000001 |[< 0.000001] 0 / 1
FEAA L S s TEA 0.02 1 < 0.002 < 0.002]<  0.002] 0 1< 0.002[< 0.002]<  0.002] 0  1]<  0.002[< 0.002[<  0.002] 0 1
7 x ) —)UFA 0.005 < 0.0005 [<  0.0005 [<  0.0005] 0  1]< 0.0005 <  0.0005 < 0.0005] 0  1]< 0.0005[<  0.0005 < 0.0005] 0 1
AHE (AR ETOODE)[3 0.3 < 0.2 0.2l 0 712 0.2 [< 0.2 0.2 0 12 0.3 0.3 03[ 0 712
pHAE 5.8~8.6 7.3 7.0 711 0 /12 7.2 7.0 7.1 0 12 7.3 7.0 721 0 /12
ES TR Bl BEAaL] BEsL] 0o 12 BEEARL] BEAL] BEal] 0o 12| BEEAL] BEsL] BEaLl o 12
A U Fapl | BEaLl BeEal] 0o 12 BEAaLl OBEAU] BEiL]l o 12 Byl BEsl] BEaLl o 12
o 5 i < 0.5 < 0.5 < 05 0 12 2.0 [< 0.5 0.6 0 12K 0.5 [< 0.5 [< 05l 0 /12
) 2% < 0.1 < 0.1 [< 0.1] 0 / 12 0.6 |< 0.1 0.2] 0 / 12 K 0.1 < 0.1 [< 0.1] 0 / 12
S I — 0 0 0ol o~ 0 0 0 olo o 0 0 olo 0
?ﬁ@%‘%f—fﬂ} Il 2000 fHEL F (8758 0 0 ol o ~ 3 1 1 1lo ~ 3 7 0 3l o~ 3
B R SR 0.1mg/0LL 0.4 0.3 03] 0 12 0.4 0.3 03] 0 /12 0.4 0.3 04| 0 /12
ERURE R mS/m 26.3 25.2 25.9 12 24.7 20.7 23.8 12 29.9 19.4 21.0 12
IK I C 19.5 16.8 18.1 12 23.0 15.0 18.1 12 25.0 11.5 17.5 12
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TS AKoBE R OB O OR (K K& £ )
i K i i fk R _ (#HK) _ JERR (oK) 5% (oK) jtf%?: (%%7J<)‘\ \ *H*ﬁﬁiﬁ% (7K)
_ fok/r B B ARk - TR _ JEER - 8T A - DU A« A _ NEB 5 P A - SRR AR B - AR B FEL - SISHE MR NIV VRN S
A H g%ﬁ%{/ﬁ BONE | B/ME | TR W 2 | mNE | s/E | CFHIE W 2L | mONE | BB | CFHIR W B | mONIE | /B | CFHIE B | mNE | m/ME | PR
NEEAL

— A 1001 /ml 0 0 ol 0o 712 0 0 ol 0 12 0 0 ol o 712 0 0 0l 0 /12 0 0 ol 0 12
PN S TR N s AR 0 12 N s N A 0 12 N AR H Tl 0 12 N TR TR 0 7 12 N AR H A 0 12
HRIT L RZFEDILEW0.003 me/1 < 0.0003 [<  0.0003 [< 0.0003] 0 ~ 1]< 0.0003[< 0.0003[< 0.0003] 0 ~ 1]< 0.0003 [< 0.0003 [< 0.0003] 0 ~ 1]< 0.0003[< 0.0003[< 0.0003] 0  1]< 0.0003 [< 0.0003[< 0.0003] 0 / 1
IKEE K DL ED) 0.0005 # < 0.00005 [< 0.00005 [< 0.00005] 0 ~ 1]< 0.00005 [< 0.00005 [< 0.00005 ] 0  1]< 0.00005 [< 0.00005 [< 0.00005] 0 ~ 1]< 0.00005 [< 0.00005 [< 0.00005 ] 0  1]< 0.00005 [< 0.00005 [< 0.00005] 0 1
TLUROZEDOILEY 001 < 0.001 [< o0.001]< 0.000] 0 ~ 1]< 0.001]< 0.001]< o0001] 0 1K o0.001[< o0.001[< o0.001] 0 1]< o0.001]< o0001[< 00010 1K o0.001[< o0.001]< 0.001] 0 1
Sh M O DILEW) 0.01 < 0.001 [< o0.001]< 0.000] 0~ 1]< 0.000]< o0.001]< 00010 1K o0.001f< o0.001]< o0.001] 0 1]< o0.001]< o0001[< 00010 1K o0.001[< o0.001]< o0.001] 0 1
R M OZDILEY) 0.01 < 0.000 [< o0.001]< 0.000] 0 ~ 1]< 0.000]< 0.001]< o0001] 0 1K o0.001[< o0.001]< o0.001] 0 1]< o0.001]< o0001[< 00010 1K o0.001[< o0.001]< o0.001] 0 1
N IA=EN A 0.02 1 < 0.002 < 0.002]< 0.002] 0 ~ 1]< 0.002]<  0.002]< 0002] 0 1K 0.002[< 0.002]< 0.002] 0  1]< 0.002]< 0002[< 0002] 0 7 1K 0.002[< 0.002]< 0.002] 0 1
AR E R 0.04 1 < 0.004 < 0.004]< 0.004] 0  1]< 0.004]< 0.004]< 0004] 0  1J< 0.004]< 0.004[< 0.004] 0  1]< 0.004]< 0.004[< 0004] 0 1< 0.004[< 0.004]< 0.004] 0 1
LT AL RO 7 |0.01 < 0.001 [< o0.001[< 0.000] 0 ~ 4a]< o0.000]< 0.001[< 0001 0 4]< o0.001[< o0.001]< o0.001] 0 4]< o0.001]< o0.001[< 0001 0 4] o0.001[< 0.001]< o0.001] 0 7 4
B e ZE 5 % O AR iEZE % 10 ] 4.87 3.61 4291 0 /12 4.56 3.55 410 0 712 4.72 3.57 4181 0 12 4.87 4.00 43910 /12 3.16 2.14 2501 0 12
TR OEFOILEY 08 < 0.05 [< 0.05 [< 005 0 / 1K 0.05 [< 0.05 [< 0.05[ 0 / 1] 0.05 [< 0.05 [< 0.05] 0 / 1] 0.05 [< 0.05 [< 0.05[ 0 / 1K 0.05 [< 0.05 [< 0.06] 0 / 1
FURERZEOEY (1.0 < 0.02 [< 0.02 [< 0,02 0 / 1K 0.02 [« 0.02 [< 0.02[ 0 / 1] 0.02 [< 0.02 [< 0.02 0 / 1] 0.02 [< 0.02 [< 0.02[ 0 / 1K 0.02 [< 0.02 [< 0.02] 0 / 1
NERAES 0.002 # < 0.0002 [< 0.0002 [< 0.0002] 0 ~ 1]< 0.0002 [< 0.0002 [< 0.0002] 0  1]< 0.0002 [< 0.0002 [< 0.0002] 0 ~ 1]< 0.0002 [< 0.0002 [< 0.0002] 0  1]< 0.0002 [< 0.0002 < 0.0002] 0 1
1,4-A %Y 0.05 < 0.005 [<  0.005 < 0.0056] 0 1< 0.005]<  0.005]< 0005 0 7 1)< 0.005[< 0.005]< 0.0056] 0 7 1] 0.005]<  0.005[< 00050 7 1l 0.005[< 0.005]< 0.005] 0 7 1
Y A-1,2=aaxFLy KO
Moy A=1.2-"yaprFLy 0.04 1 < 0.0002 [< 0.0002 [< 0.0002] 0  1]< 0.0002 [< 0.0002 < 0.0002] 0 ~ 1)< 0.0002 < 0.0002 [< 0.0002 | 0 1] 0.0002 [< 0.0002 [< 0.0002] 0  1]< 0.0002 |< 0.0002 < 0.0002] 0 / 1
vranaRrR 0.02 < 0.0002 [< 0.0002 [< 0.0002] 0 ~ 1]< 0.0002 < 0.0002 < 0.0002] 0  1]< 0.0002 [< 0.0002 [< 0.0002] 0 1[I 0.0002 [< 0.0002 [< 0.0002] 0 ~ 1]< 0.0002 [< 0.0002 < 0.0002] 0 7 1
Fror7aaxTF L 0.01 0.0013 0.0009 0.0010 [ 0 ~ 4 0.0013 0.0009 0.0010[ 0 / 4 0.0013 0.0009 0.0011] 0 / 4 0.0025 0.0021 0.0023[ 0 / 4 0.0008 0.0002 0.0004] 0 / 4
N Zoox—F1 0.01 0.0004 0.0002 0.0003] 0 / 4 0.0004 0.0002 0.0003] 0 / 4 0.0004 0.0002 0.0003] 0 / 4 0.0004 0.0004 0.0004] 0 / 4 0.0002 [<  0.0002 0.0002] 0 / 4
P 0.01 < 0.0002 [< 0.0002 [< 0.0002] 0 ~ 1]< 0.0002 < 0.0002 < 0.0002] 0  1]< 0.0002 [< 0.0002 [< 0.0002] 0  1J 0.0002 [< 0.0002 [< 0.0002] 0  1]< 0.0002 [< 0.0002 < 0.0002] 0 7 1
e 0.6 < 0.06 [< 0.06 [< 0.06[ 0 / 4K 0.06 [< 0.06 [< 0.06[ 0 /7 4]« 0.06 [< 0.06 [< 0.06[ 0 / 4] 0.06 [< 0.06 [< 0.06[ 0 / 4K 0.06 [< 0.06 [< 0.06] 0 ~ 4
Jaa g 0.02 < 0.002 [< 0.002]< 0.002] 0 af< 0.002]< 0.002]< 0.002] 0  4al< 0.002 < 0.002]<  0.002] 0 7 4k 0.002[<  0.002]< 0.002] 0 7 4a]< 0.002]<  0.002]<  0.002] 0 7 4
ookl 0.06 0.002 [<  0.001 0.001 0 / 4 0.002 [<  0.001 0.002] 0 / 4 0.002 [<  0.001 0.001l 0 / 4 0.003 [<  0.002 0.002] 0 / 4 0.013 0.006 0.008{ 0 / 4
DA=i=l 3 0.03 < 0.003 < 0.003]< 0.003] 0  4]< 0.003]<  0.003]<  0.003] 0  4al< 0.003]<  0.003[<  0.003] 0  4J< 0.003[<  0.003]< 0.003] 0 /7 4 0.007 [<  0.003 0.006 [ 0 / 4
7 aEyauii 0.1 0.002 < 0.001 0.002 0 / 4 0.002 [<  0.001 0.002] 0 / 4 0.002 [<  0.001 0.002] 0 / 4 0.002 [<  0.001 0.002] 0 / 4 0.003 0.001 0.002] 0 / 4
e 0.01 < 0.001 [« o0.001]< 0.001] 0 4af< o0.001]< 0.000]< 0.000] 0  4]< o0.001]< 0.000]< 0001 0o 4k o0.001]< 0.001]< o0.001] 0 4af< o0.001[< 0.001]< 0.000] 0 7 4
MR T AS 0.1 0.007 [<  0.001 0.004[ 0 / 4 0.007 [<  0.001 0.005| 0 / 4 0.006 [<  0.001 0.004] 0 / 4 0.010 0.002 0.007] 0 / 4 0.022 0.010 0.015] 0 / 4
N oo EERE 0.03 < 0.003[<  0.003[< 0.003] 0~ 4af<  0.003]<  0.003]<  0.003] 0 4 0.003[<  0.003[<  0.003] 0  4]<  0.003]<  0.003]<  0.003] 0 7 4 0.007 [<  0.003 0.006 [ 0 / 4
TJOuEyyauirH 0.03 0.002 [<  0.001 0.001 0o ~ 4 0.002 [<  0.001 0.001] 0 / 4 0.001 [<  0.001 0.001l 0 / 4 0.002 [<  0.001 0.002] 0 / 4 0.006 [<  0.003 0.004] 0 / 4
T OERIL L 0.09 0.002 [<  0.001 0.002 0 / 4 0.002 [<  0.001 0.001] 0 / 4 0.002 [<  0.001 0.001l 0 / 4 0.002 [<  0.001 0.002] 0 / 4 0.001 [<  0.001 0.000] 0 / 4
FILLT LT ER 0.08 < 0.008 [<  0.008 < 0.008] 0 4]<  0.008]<  0.008]<  0.008] 0 7 4]< 0.008[<  0.008]< 0.008] 0 4] 0.008]< 0.008[< 0.008] 0 7 4] 0.008[< 0.008]< 0.008] 0 / 4
R 2D EY 1.0 < 0.01 [< 0.01 [< 0010 7 1K 0.01 [< 0.01 [< 0.0t 0o 7 1] 0.01 < 0.01 [< 0.0t 0o / 1] 0.01 [< 0.01 [< 0010 1K 0.01 [< 0.01 [< 0.0t o 7 1
TAI=U LR OZDILEW|0.2 < 0.02 [< 0.02 [< 0,02 0 / 1K 0.02 [< 0.02 < 0.02 0 / 1] 0.02 < 0.02 [< 0.02 0 / 1] 0.02 [< 0.02 [< 0,02 0 / 1K 0.02 [< 0.02 [< 0.02[ 0 /1
B YZFDILEY 0.3 < 0.03 [< 0.03 [< 0.03[ 0 / 1K 0.03 < 0.03 [< 0.03[ 0 / 1] 0.03 < 0.03 < 0.03[ 0 / 1] 0.03 [< 0.03 [< 0.03[ 0 / 1K 0.03 [< 0.03 [< 0.03] 0 /1
i M O DILEW 1.0 < 0.01 [< 0.01 [< 0010 7 1K 0.01 [< 0.01 [< 0.0t 0o 7 1] 0.01 < 0.01 [< 0.0t 0o / 1] 0.01 [< 0.01 [< 0010 1K 0.01 [< 0.01 [< 0.0t o~ 1
FRT L ZEDLEY (200 » 8.9 8.9 8910 7 1 8.9 8.9 890 7 1 8.9 8.9 89l o0 7 1 7.4 7.4 7410 /1 8.3 8.3 830 7 1
< H R OFOLEY 1005 » < 0.005 [< 0.005 < 0.006] 0 1< 0.005]<  0.005]< 0005 0 7 1] 0.005[<  0.005]< 0.0056] 0 1] 0.005]<  0.005[< 00050 7 1l 0.005[<  0.005]< 0.005] 0 7 1
Wik A4 200 7.5 6.7 7210 /12 7.5 6.7 7110 /12 7.5 6.7 7110 /12 8.3 7.5 7710 /12 9.4 7.8 85[0 12
H LT b7 R NEGEE) [300 0 112 110 il o/ 4 109 108 109 0 ~ 4 111 109 110 0 ~ 4 106 102 104] 0 7 4 89 79 821 0 4
IR 500 ) 220 174 190 0 ~ 4 202 166 1841 0 7 4 203 168 1840 7 4 196 164 1791 0 / 4 162 141 1491 0 ~ 4
BaA A Fm s Al 0.2 K 0.02 [< 0.02 [< 0.02] 0 / 1k 0.02 [< 0.02 [< 002l 0 / 1k 0.02 [< 0.02 [« 0.02] 0 / 1k 0.02 [< 0.02 [< 0.02] 0 / 1k 0.02 [< 0.02 [< 0.02{ 0 ~ 1
Jaxt A 0.00001 7 ]<0.000001 {<0.000001 [<0.000001 | 0 ~ 1]<0.000001 [<0.000001 [<0.000001 | 0  1§<0.000001 [<0.000001 [<0.000001] 0  1]<0.000001 |<0.000001 [<0.000001 ] 0 1 ]<0.000001 [<0.000001 [<0.000001] 0 / 1
2— AFNAVRLFA—AMIB) 10.00001 7 §<0.000001 [<0.000001 [<0.000001 | 0  1]<0.000001 [<0.000001 [<0.000001 | 0  1§<0.000001 [<0.000001 [<0.000001] 0  1]<0.000001 |<0.000001 [<0.000001 | 0  1]<0.000001 [<0.000001 [<0.000001] 0 / 1
FEAA S i A 0.02 <0.002 [ 0.002 < 0.002] 0 1< 0.002 < 0.002 1< 0.002] 0 2 1) 0.002 < 0.002]< 0.002] 0 1] 0.002]< 0.002 < 00020 2 1k 0.002[<  0.002]<  0.002] 0 7 1
7 x /) — )L 0.005 » < 0.0005 [< 0.0005 [< 0.0005] 0  1]< 0.0005 < 0.0005 [<  0.0005[ 0  1]< 0.0005 [<  0.0005[< 0.0005] 0 1)< 0.0005 < 0.0005 [< 0.0005] 0 1 0.0005[<  0.0005 < 0.0005] 0 7 1
LR EERRETOODE) |3 1 0.2 [< 0.2 0.2 0 12K 0.2 < 0.2 |< 0.2 0 12K 0.2 |< 0.2 |< 02l 0 712 0.2 [< 0.2 0.2 0 712 0.3 [< 0.2 03[ 0 712
pHAE 5.8~8.6 7.3 6.9 7.0l 0 712 7.1 6.9 7.0 0 /12 7.2 6.9 7.0l 0 712 7.2 6.9 7.1 0 712 7.3 7.0 7210 /12
IR RGN N Bl BEALL CRELRLI 0 12| BEEARL| O EBEERL] OBEARLI 0 12| BEARL] BEARL] O BEARLI 0 12 BEAeL] BEEAL] O BEALLI 0 12| EEAL| O EBEEARL| O BEARLL 0 12
A / B | BEeal] Bl o 12 BEEAL|] BEEAL] BEARLl o0 12 BEAL] BEARL] BERL 0 12 BEEaeu] BEeaL] BEEAaLl o 12| BEEAeL|] BEEARL|] BEAL] o0 12
£ 5 < 0.5 [< 0.5 < 05] 0 /12 0.5 < 0.5 [< 05/ 0 12K 0.5 [< 0.5 |< 050 0 712K 0.5 |< 0.5 [« 05| 0 12K 0.5 [« 0.5 < 05 0 712
)i 2pF < 0.1 [« 0.1 < 0.1] 0 12 0.1 < 0.1 < 0.1 0 /12K 0.1 < 0.1 < 0.1l 0 712K 0.1 < 0.1 < 0.1] 0 12K 0.1 < 0.1 [« 0.1 0 712
e E N — 0./ 0 0./ 0 0./ 0 0./ 0 0./ 0
1 i, o s Al 1mlsB<2000 5L () 49 1 201 0 / 3 3 0 1o 7 3 6 2 410 7 3 2 0 1o 3 3 0 2l 0o / 3
VB R R 0.1mg/0LL E 0.3 0.3 03] 0 12 0.3 0.3 03] 0 12 0.3 0.3 03[ 0 12 0.3 0.3 03] 0 12 0.4 0.3 0.4 0 /12
Ay mS/m 27.0 26.0 26.5 12 26.9 25.5 26.1 12 26.7 25.9 26.3 12 24.8 23.8 24.3 12 22.2 19.0 21.1 12
JKIE. C 28.5 13.5 20.1 12 26.7 15.5 19.2 12 26.5 12.8 18.8 12 29.2 13.0 19.3 12 25.5 12.0 17.9 12
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THSEE Kk B O B R
UJiK) KEEEGIAROOMRAE H 128 H  (JhiHE)

KR H 2K FIKIE N wrokiares] EH T35 HEH T 5 I

fRATE H HARAE e OVEAL 10H 10 H 10 H 10 H 10 H 10 H

17H 17H 17H 17H 17H 17H
T FE R OZEDILEY) 0.02mg/12L F[< 0.002|K 0.002|K 0.002|K 0.002|< 0.002|< 0.002
V7 R OZEDILEY 0.002mg/1L4 T (E 7E)I< 0.0002|K 0.0002|< 0.0002|< 0.0002[K 0.0002|K 0.0002
=TV K RZEDLEY) 0.02mg/12L F[< 0.002|K 0.002|K 0.002|K 0.002|< 0.002|< 0.002
1.2=Vyanxhy, 0.004mg/1LA FIK 0.0004|K 0.0004|K 0.0004|K 0.0004[< 0.0004K 0.0004
| 0.4mg/1LL FIK 0.04[K 0.04[K 0.04[K 0.04|< 0.04[< 0.04
T ENVEEY Q- NAFY) 0.08mg/1L F|< 0.008J< 0.008J< 0.008J< 0.008J< 0.008J< 0.008
R R I 20mg/1LL 22 26 34 19 27 23
1,1,1-FNJupxh/ 0.3mg/104 FJ< 0.03|< 0.03|< 0.03I< 0.03J< 0.03J< 0.03
AFN—t=T FNI—=T IV 0.02mg/10L F|< 0.002[< 0.002[< 0.002[< 0.002f< 0.002|< 0.002
AR Sl BN A &) 3mg/ILA T 0.4 0.7 0.5 0.5 0.6 0.7
T J& A A M B 2,000LL F 11 15 610 12 18 140
1,1-VZuaxFL 0.1mg/I1LL FJ< 0.01I< 0.01I< 0.01I< 0.01]< 0.01]< 0.01
7K C 18.0 17.8 17.8 19.5 19.8 17.2

% LT VG at R AV ER(PEOS) N R~V )L A a7 Z L FR(PEOA) D KB 2 B ik S 1 B #E,




SRR ok H O B o R
({5 7K) KEEBEARIARDORAE H165HH (L)
B1EKS | F2idkS ks mik e, ereseie]emas s | v onerese| gz sgoate o ek
RAIEH HARE & OV AL 10H 10H 10H 10H 10H 10H 10H 10H
18 H 18 H 18 H 18 H 18 H 18 H 18 H 18 H

TVIE M OZFDILEY) 0.02mg/ILA T[S 0.002|K 0.002[K 0.002[K 0.002[K 0.002[K 0.002[K 0.002[K 0.002
U7 R OZEDILEY) 0.002mg/1L4 FCET )< 0.0002)K 0.0002[K 0.0002[K 0.0002[K 0.0002[< 0.0002[< 0.0002[< 0.0002
=TV K OZFDALEY) 0.02mg/1LL T IK 0.002K 0.002K 0.002[K 0.002[K 0.002)K 0.002[K 0.002)K 0.002
1,2-y"yanxhy, 0.004mg/1LL T|< 0.0004< 0.0004[< 0.0004[< 0.0004[< 0.0004|< 0.0004|< 0.0004|< 0.0004
MLz 0.4mg/1L T 0.04[< 0.04[< 0.04J< 0.04J< 0.04f< 0.04f< 0.04J< 0.04
T XY (2-TFNAFYL) 0.08mg/1LL T|< 0.008K 0.008|< 0.008|< 0.008|< 0.008|< 0.008|< 0.008|< 0.008
A4 =) 0.01mg/ILL F(EE) K 0.001[K 0.001[K 0.001[K 0.001[K 0.001|< 0.001|K 0.001|K 0.001
K e7—v 0.02mg/1LL (& E) € 0.002K 0.002|< 0.002|< 0.002|< 0.002|< 0.002|< 0.002|< 0.002
R PR 20mg/1LL T 19 16 11 21 19 21 17 12
1,1,1-N)Japxhy 0.3mg/1LL FK 0.03)< 0.03)< 0.03)< 0.03)< 0.03)< 0.03)< 0.03)< 0.03
AFN—t=T FNI=T N 0.02mg/1LL T IK 0.002[K 0.002[K 0.002[K 0.002[K 0.002)K 0.002[K 0.002)K 0.002
HHEMEGR N BNy 2 R 3mg/ILL T 0.4 0.5 0.3 0.3 0.3 0.4 0.6 0.6
R AR (TON) 3L TIC 1< 1K 1K 1K 1< 1< 1< 1
Jo & ~IFREELL BEL,
G TR WAz ITSF D -1.2 -1.2 -1.3 -1.1 -1.2 -1.1 -1.0 -1.1
PEJB A A AN A 2,000L4 0 0 0 64 120 8 200 8
1,1-/aaxflL 0.1mg/1LA FI< 0.01[K 0.01[K 0.01[K 0.01[K 0.01)< 0.01J 0.01)< 0.01
R PR 0.1mg/1LL |- 0.3 0.3 0.4 0.3 0.3 0.3 0.3 0.4
Kk C 18.0 18.2 20.5 23.5 20.5 21.0 21.0 21.0

X ULV Fat I B AILREER(PFOS) K R~V 7 LA a7 2 L ER(PFOA) D K SRR G S 1L RIHE,




ARSEE K B LS
VT NATF I AR EEPEOS) e AL 7 VA a7 2 FE(PEOA) AR PR H B E T H AE S J OMHAAT 0.00005 mg/I
KR 4 A 4 A 54 6 74 74 84 94 104 104 114 124 14 14 2H 3H RAE /Ml T E B
11H 12H 8H 13H 10H 11H 14H 12H 17H 18H 13H 11H 15H 16H 5H 11H
(FK)
KR 0.000014 0.000014 0.000022 0.000016 0.00002 0.000014 0.000017 | 0 4
F2KIR 0.000018 0.000016 0.000026 0.000025 0.000026 0.000016 0.000021 | 0 4
3K 0.000047 0.000048 0.000049 0.000047 0.000053 0.000050 0.000052 0.000051 0.000048 0.000047 0.000049 0.000042 0.000053 0.000042 0.000049 | 0 12
P9 R B FRPT 0.000013 0.000012 0.000019 0.000017 0.000019 0.000012 0.000015 | 0 4
A1 0 0
A3 E I 0.000016 0.000010 0.000018 0.000015 0.000018 0.000010 0.000015 | 0 4
I FAS I 0 0
I A I 0 0
AT 0.000024 0.000022 0.000024 0.000022 0.000024 0.000022 0.000023 | 0 /4
(e K)

S 1ELK S 0.000020 0.000014 0.000019 0.000013 0.000020 0.000013 0.000017 | 0 4
2K K35 0.000014 0.000013 0.000019 0.000016 0.000019 0.000013 0.000016 | 0 4
| FEARES Bl K By 0.000008 0.000005 0.000009 0.000012 0.000012 0.000005 0.000009 | 0 4
|k % 0.000019 0.000014 0.000021 0.000013 0.000021 0.000013 0.000017 | 0 4
EAHES 0.000013 0.000013 0.000017 0.000013 0.000017 0.000013 0.000014 | 0 4
NAEEE 0.000013 0.000013 0.000034 0.000013 0.000034 0.000013 0.000018 | 0 /4
KEHR 0.000016 0.000013 0.000020 0.000015 0.000020 0.000013 0.000016 | 0 4
AHAEAS [T 0.000006 0.000005 0.000013 0.000005 0.000013 0.000005 0.000007 | 0 /4

3% B E4#:0.000050mg/1LA T




